Revelry Event Designers 3604 Medford St. Los Angeles, CA 90063 (323) 263-1657

**Mindy Weiss** 

	PO: Shipping Address:	<b>Invoice Date:</b> <b>Due Date:</b> Upon Receipt <b>Salesperson</b> : Angela Murel			
Description		Qtty	Price		Total
Puerto Raiz - We	elcome night - Thursday				
	Truss Cover - Tan Lycra 30' x 30' x 10'H truss structure	1	\$2,250.00	Т	\$2,250.00
	Frayed Rope Strands for the perimeter of the truss structure to create a frayed edge similar to inspiration image	1	\$9,000.00	Т	\$9,000.00
	Multi Chandelier Hooks - Palm Tree Style used with Del Cabo pendant lights painted in Pale Gold	6	\$250.00	Т	\$4,500.00
	Dj Booths - Santa Fe Reclaimed Wood Dj Booth - Santa Fe - Reclaimed Wood - Rattan	1	\$450.00	Т	\$1,350.00
	Dj Booths - Tahoe Reclaimed Wood	1	\$450.00	Т	\$1,350.00
	Barstools - Shanghai Natural Wood	18	\$24.00	Т	\$1,296.00
	Oversized Macrame to Hang inbetween Palm Tree	2	\$5,500.00	Т	\$11,000.00
	Oversized Dream Catchers to Hang inbetween Palm Tree 72"D x 12'H with feather accents etc	2	\$7,500.00	Т	\$15,000.00
	Pipe and Base to Hang Macrame	1	\$0.00	Т	\$0.00
	Hanging Lantern - Macrame Round For Round bar	4	\$150.00	Т	\$1,800.00
	Hanging Lantern - Macrame Basket With Fringe 01 For Round Bar	1	\$150.00	Т	\$450.00

Description		Qtty	Price		Total
	Hanging Lantern - Macrame Basket 01 For Round Bar	2	\$150.00	Т	\$900.00
	Hanging Lantern -macrame Basket W/ Fringe 02 For Round Bar	2	\$150.00	Т	\$900.00
	Edison Light Bulb Drops for Macrame Lanterns	9	\$25.00	Т	\$675.00
	Macrame Hanging Accents Per Furniture Groupings (4) portal All natural Macrame (2) macrame narrow (2) Ivory Macrame Diamond (4) Macrame Ivory Short (4) Pink Dipped Macrame	4	\$750.00	Т	\$9,000.00
	Macrame Hanging Accents for Photo Op Ivory Macrame W/ Pole 03 & Meda Metallic Macrame	1	\$750.00	Т	\$2,250.00
	Macrame Hanging Accents For Food Stations	8	\$750.00	Т	\$18,000.00
	Oversize Props - Metal Flowers in Varied Sizes	10	\$8,250.00	Т	\$82,500.00
	Oversize Props - Laser Cut Geo Forms 12'D	2	\$16,500.00	Т	\$33,000.00
	Oversize Props - Laser Cut Geo Forms 8'D	2	\$14,125.00	Т	\$28,250.00
	Straight Barback 8'L - Gold paired with Del Cabo Bars	5	\$275.00	Т	\$4,125.00
1	Total Puerto Raiz - Welcome night - Thursday			\$227 596 00	

	Tota	al Puerto Raiz - Welco	ome night - Thurso	day	\$227,596.00			
Maravilla Beac	illa Beach Club - Rehearsal - Friday Nig							
	Gauze Pullback for Structures Off White Gauze (only) in 10'W x 12'H pieces for the outsic of the structures	le perimeter	\$5,500.00	Т	\$16,500.00			
	Dj Front - Channeled White Linen with Table for DJ	1	\$450.00	Т	\$1,350.00			
	NEW Mix and Match Rattan Pendants To Hang on Cabanas	80	\$250.00	Т	\$20,000.00			
	Pendant Lamp - Bali - Asymetrical Weave	10	\$125.00	Т	\$3,750.00			
	Pendant Lamp - Bali - String Weave	10	\$125.00	Т	\$3,750.00			
	Pendant Lamp - Curved Rattan Big	20	\$125.00	Т	\$7,500.00			

Description		Qtty	Price		Total
	NEW Ocean Reclaimed Wood Bar 8'L to match the existing bars at Maravilla	3	\$3,250.00	Т	\$9,750.00
	Straight Barback 8'L - Black	3	\$275.00	Т	\$2,475.00
	NEW Runners for Oval Dining Tables Three tone Linen Runner with Layers 12'L x 16"W	8	\$325.00	Т	\$2,600.00
	NEW Runners for Rectangular Dining Tables Three tone Linen Runner with Layers 36'L x 16"W	2	\$950.00	Т	\$1,900.00
	NEW Runners for Round Dining Tables Three tone Linen Runner with Layers 7'L x 16"W	7	\$200.00	Т	\$1,400.00
	NEW Runners for Linen Dining Tables Three tone Linen Runner with Layers for 18'L x 16"W	4	\$485.00	Т	\$1,940.00
	NEW Runners for Rectangular Linen Tables Three tone Linen Runner with Layers 12'L x 16"W	5	\$325.00	Т	\$1,625.00
	Total Maravilla Bea	ch Club - Re	hearsal - Friday	Nig	\$74,540.00
Private Home -	Cocktails - Saturday				
	Montecito Bar 8'L - White (Rustic) look similar to Del Cabo Bars	3	\$1,250.00	Т	\$11,250.00
	NEW Barbacks 8'L - Vintage Grey to look similar to the Del Cabo barbacks	2	\$1,250.00	Т	\$2,500.00
	Bali Bistro Round Dining Table - Cane Base	4	\$250.00	Т	\$3,000.00
	Bali Stand Up Table - Cane Base	10	\$275.00	Т	\$8,250.00
35	Santorini Sofa Section - Left Arm - Off White Boucle	4	\$500.00	Т	\$6,000.00
Bit	Santorini Sofa Section - Right Arm - Off White Boucle	4	\$500.00	Т	\$6,000.00
65	Santorini Sofa Section - Middle - Off White Boucle	8	\$450.00	Т	\$10,800.00
6	Santorini Club Chair - No Arm - Off White Boucle	8	\$215.00	Т	\$5,160.00

escription		Qtty	Price		Total
	Santorini Pillow Ottoman - Off White Boucle	8	\$175.00	Т	\$4,200.00
	Siena Round Coffee Table - Wood Sphere Base w. Glass	8	\$250.00	T	\$6,000.00
gr C	Top	0	Ş230.00	I	Ş0,000.00
	Ottoman Pod 18"D Off-White Boucle	24	\$50.00	Т	\$3,600.00
	Accent Pillows: Mixed Whites and sage green	32	\$30.00	т	\$2,880.00
Ţ	Accent Table - Madrid - Round 1	2	\$100.00	Т	\$600.00
X	Accent Table - Madrid - Round 2	2	\$100.00	Т	\$600.00
	Accent Table - Madrid - Gold Frame	4	\$100.00	Т	\$1,200.00
	Accent Table - Bora Bora - Gold Twirl	4	\$100.00	Т	\$1,200.00
Ţ	Accent Table - Madrid - Kalmar Marble Top	2	\$100.00	Т	\$600.00
	NEW Area Rugs 8'x10' - Sage Greens	8	\$625.00	Т	\$5,000.00
	Total Priv	ate Home - C	Cocktails - Satur	day	\$78,840.00
rivate Home - I	Reception - Saturday				
	NEW Chandelier Gold Cage 72"D	2	\$0.00	Т	\$0.00
	NEW Chandelier Gold Cage 60"D	4	\$0.00	Т	\$0.00
	Chandeliers Gold Cage 48"D 48"Diam x 40"H - LED 50W	12	\$775.00	Т	\$9,300.00
	Subrental: Folding Table 48" x 48"	8	\$100.00	Т	\$2,400.00
	Subrental: Folding Table 72" x 72"	6	\$100.00	Т	\$1,800.00
	NEW Fitted Table Cloth Round 72"D x 30"H White Faux Linen with Open Inverted Pleat in Green as shown in the sample	9	\$600.00	Т	\$5,400.00

Description		Qtty	Price		Total
	NEW Fitted Table Cloth Round 84"D x 30"H White Faux Linen with Open Inverted Pleat in Green as shown in the sample	2	\$775.00	Т	\$1,550.00
	NEW Fitted Table Cloth Rectangle 8' x 48"W x 30"H White Faux Linen with Open Inverted Pleat in Green as shown in the sample	16	\$700.00	Т	\$11,200.00
	NEW Fitted Table Cloth Square 72" x 72" x 30"H White Faux Linen with Open Inverted Pleat in Green as shown in the sample	8	\$600.00	Т	\$4,800.00
	Pasadena Banquette - Ivory 6'L	6	\$400.00	Т	\$7,200.00
	NEW Cover Banquette - White Faux Linen	6	\$550.00	Т	\$3,300.00
	Total Priva	ite Home - R	eception - Satur	day	\$46,950.00
Private Home -	After Party - Saturday				
	Chandelier - Amsterdam - Geometrical Sphere 5'	6	\$800.00	Т	\$14,400.00
<b>B</b>	Chandelier - Amsterdam - Geometrical Sphere 4'	6	\$700.00	Т	\$12,600.00
-	Chandelier - Amsterdam - Geometrical Sphere 3'	6	\$600.00	Т	\$10,800.00
	Las Vegas Round Booth - Black Velvet	6	\$550.00	Т	\$9,900.00
X	Hollywood Coffee Table BASE - Zig Zag Gold Frame	6	\$250.00	Т	\$4,500.00
	Glass Top 48"D for Coffee Table	6	\$0.00	Т	\$0.00
AT	Tokyo Accent Chair - Gold Base Black Velvet Cushions	15	\$85.00	Т	\$3,825.00
AT	Tokyo Accent Chair - Gold Base Black Velvet Cushions	9	\$85.00	Т	\$2,295.00
	Top Hats - Monaco Black Velvet	1	\$650.00	Т	\$1,950.00

Description		Qtty	Price		Total
	Top Hats - Monaco Black Velvet	1	\$650.00	Т	\$1,950.00
T	Coffee Tables - Curvy Black Glass w. Gold	4	\$250.00	Т	\$3,000.00
	Accent Table - Curvy Black Glass w. Gold	4	\$125.00	Т	\$1,500.00
	Monaco Coffee Table - Irregular Brass paired with Del Cabo Sofa & Chairs	4	\$250.00	Т	\$3,000.00
	Beirut Ottoman - Black Boucle paired with Del Cabo Sofa & Chairs	12	\$85.00	Т	\$3,060.00
	Ottoman Pod 18"D Black Suede	20	\$50.00	Т	\$3,000.00
	Las Vegas Accent Chair - Black w. Gold Frame paired with sit down tables	12	\$125.00	Т	\$4,500.00
	Monaco Stand Up Table - Black Glass Top w. Hourglass Frame	6	\$200.00	Т	\$3,600.00
	Monaco Bistro Table - Black Glass w. Hourglass Frame	4	\$250.00	Т	\$3,000.00
	Total Private	Home - A	fter Party - Sature	day	\$86,880.00
Private Home -	Pathways - Saturday				
	Candle Arches - Design TBD pricing subject to change based on final design and build	3	\$15,000.00	Т	\$45,000.00
	Total Privat	e Home - I	Pathways - Saturo	day	\$45,000.00
Services					
	Installers: Travel Monday	12	\$400.00		\$4,800.00
	Installers: Install (5) Days price subject to change based on the multiple install and strike dates and times	12	\$3,750.00		\$45,000.00
	Installers: Stand Bys price subject to change based on the multiple events dates and times	4	\$400.00		\$1,600.00
	Installers: Strike (2) Days price subject to change based on the multiple events dates and times	12	\$1,500.00		\$18,000.00

Description		Qtty	Price	Total
	Installers: Travel Tuesday price subject to change based on the multiple events dates and times	12	\$400.00	\$4,800.00
	Installers: Perdiem for (9) Days	12	\$972.00	\$11,664.00
	Installers: Hotel Accommodations Client to Provide	6	\$0.00	\$0.00
	Trucking: Round Trip to Mexico	1	\$42,000.00	\$42,000.00
	Trucking: Cross-Loading	1	\$0.00	\$0.00
	Manger: Onsite for (14) Days price and days approximated	1	\$13,300.00	\$13,300.00
	Manager: Perdiem for (14) Days	1	\$1,512.00	\$1,512.00
	Manager: Onsite for (8) Days price and days approximated	1	\$10,000.00	\$10,000.00
	Manager: Perdiem for (8) Days	1	\$864.00	\$864.00
	Manager: Hotel Accommodations Client to Provide	2	\$0.00	\$0.00
	Manager: Travel Days (2)	2	\$1,700.00	\$3,400.00
	Pre-Production: Site Vists	4	\$1,650.00	\$6,600.00
	Pre-Production: Costs Spent on Site Visits	1	\$4,000.00	\$4,000.00
	Pre-Production: Design & Meetings	1	\$12,000.00	\$12,000.00
	Supplies: Misc	1	\$6,500.00	\$6,500.00

Please make checks payable to Revelry, Inc.	Total Products:	\$559,806.00
Note: Prior to deliveries and pick-ups all invoices must be pay in full	Total Labor/Services/Misc:	\$186,040.00
Please ready the contract and sign it	Taxes (tax excempt):	\$0.00
	Discounts:	(\$125,770.50)
Notes	Total:	\$620,075.50
	Payments:	(\$0.00)

Balance: \$620,075.50